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MATHEMATICS Intermediatc Part-I » Class 11" (1%A 323.1 ) PAPER:1 GROUP-I
Time: 30 Minutes OBJECTIVE - Marks: 20
‘ Code: 6191 é‘ o (= 223 |
Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is

correct, fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or
filling two or more circles will result in zero mark in that question.

- 1- The multiplicative inverse of complex number (0, 1) is
©0,-1) B) 1,0 © (1,0 D) 1,1
2-  Converse of p— q is
(A) ~p—gq * (B)p—~q ©aq-» D) ~q—p
3 @h-
4) A (B) -A! (€ A'al O @y
4-  The trivial solution of the system ax+by =0 and a,x+b,y =0 is
() (1,0) .B) (©0,1) © 0,0 M) (1,1)
5- Sum of all four fourth roots of unity is
@) 1 ®) -1 ©@o ) i
6-  Roots of the equation ax’+ bx+c =0 are real and distinct if
(A) b-dac=0 @ b*-4ac>0 (©) b’-4ac<0 (D) a’~4ac>0
7- Arelation in which the equality is true for any value of unknowns is called
identity ) (B) equation (C) fraction (D) conditional
8- The sequence 3, 6, 12, ..... is ‘
(A) AP, @)ar. (C) HP. (D)sinfinite
9-  Harmonic mean between 3 and 7 is
5 2]
= = 2
A 5 2 ©) s D), 21
10-  Factorial formof n(n~1)(@-2)=__
n! n! n! n!
@) (n—-1I)! ®) (n-2)! @ {n-3)t D) (n+3)
11-  If Aand B are independent events and P(A) =048, P(B)=10.7 then P(A N B)=
&)oss6 ®B) -3- © % ) o1
12- " The sum of exponents of aand b in every termof the expansion of (a + b)" is
(A 1 (B).0 (© 2n @)n
13- The expansion of (1+2%)’ ig valid efily if
1 1 1
&) [xI<2 @< © Ixjes @) [xkg
14- If length of arc and raditis of circle are measured in cm then unit of Q is
_ (A) degreé radians (C) cm? (D) em
15 Cos2e= . .
(AY 2Cos’d+ 1 @ 2Cos’« gl oy (© Sina- © Bsinfa+l
@) L/
= is called
B ich £( x + P)=f(x) is cal '
16 The smallest positive number P firaieb/f( C) range @) period
g : (B) co-domain (
(A) domain
2
17.  Inanytriangle ABC, ¢"= @) a* +b” -2abCos¥ 5
(A) a?+c” ~2acCosp (D) a*+b’ ~2abCosa

2 4 c? —2bcCosar

(C) b*+c ‘ . e
int of intersection of the angle bisectors of a triangle is call

18- Point of inf it

( A) circum-—centre

@ (D) ortho—centre
in—centre :

-1 = =k 2A
19- 2Tan”'A - c Tan_,[ 24 J (D) Tan I[z_Az]
1-A? ,
20- If Sinx + Cosx =0 thenx = - - 3% o) %,3_:;_
A 2,2 ® -373 4
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Note: Section-I is compulsory. Attempt any three (3) questions from Section-IL

2, Write short answers to any EIGHT questions:

i-
ii-
ii-
iv-

Xu-

Check the closure property with respect to multiplication on the set {-1 , 1}
Simplify the complex numbers (5, —4) (-3, -2)
Write down the descriptive and tabular form of {x|xePax <12}

Verify commutative property of union and intersection for sets A = {1,2,3,4,5} ,B=
Write down the inverse and contrapositive of the conditional ~p — g

3
maamigi P2 Y laf ¥ I

-3 3y-4| |-3 x
If A and B are non-singular matrices. Then show that (AB)™' =B~'A™"
o P4y |

Without expansion show that |p v+a 1/=0

' ¥ a+B 1

Solve the equation x*~7x +10 =0 by factorization.
Reduce 2x* -3 x? - 3x42 =0 into quadratic form.
Solve the equation x¥? - x¥*-6=0

Define reciprocal equation.

3. Write short answers to any EIGHT questions:

X241
) (x-D(x+1)
Write down next two terms of sequence ~1,2,12,40, ..........
Insert two G.Ms. between 1 and 8 '

tind -4 L
Find n temofz,s,s,...‘..‘..

n(n+1)(2n +1)
6

Resolve into partial fractions of without finding values of constants.

Prove that ikz =
k=1

If 5, 8 are two A.Ms, between aand b. Find a and b.
Find the value of n”~'when "Py:""'Py=9:1

_GROUP -1
Marks: 80

(2x8=16)

{4,6,8,10}

2 x8=16)

How many arrangements of letters of word PAKPATTAN, taken all together, can be made ?
Two dice are thrown twice. What is probability that sum of dots shown in first throw is 7 and that of

second throwis 11 7
Show that in-equality 4" >3"$4 holdsforn=2,n=3
Using binomial theorerfiyexpand (a #2b)°

Expand up to 4 terms, faking the value of x such that expansion is valid: (8 =2y

4. Write short answers to;any NINE questions:
What is thellengthiof the arc intercepted on a circle of radius 14cm by the arms of central angle of45°?

pte

ii-

iii-

iv-

Verify that Sinlg :Sir|2:1—t ¢ Sinz-g : Sinzg =1:2:3:4

Sin0
1+Cos
Without using table, find the value of tan(_—lSS")

Prove that +Coth = Cosecd

J:,),,-'

<4

2x9=18)

(Turn Over)



-

xiii-

[iany o
e o - -

Prove that Cos(o.+ 45%) =715(Cosﬂ. —Sinc) ¢ e

Prove that l—f.'losm = tanE
Sino 2

Find the period of Cot8x

When the angle between the ground and the sun in 30°, flag pole casts 2 shadow of 40 m long.
Find the height of the top of the flag.
Tind the smallest angle of the triangle ABC whena=37.34 , b=13.24 , c=3506

Find the area of the triangle ABC whena=200 , b=120 , ¥ =150°
Show that Sin(2Cos %) = 21— %2

Find the solution set of Sinx.Cosx = [37

Find the solution of Sinx = % in [0, 27] o

SECTION-II

Note: Attempt any three (3) questions.

5 (a)

Use matrices to solve the system of equations o 5
2){| + X9 +333 =3

X{+Xy—2%3=0

—'31‘]'“?(2+2J§.3=—4 &
1

1Y 5
(b) Solve the equation (x = & ?
5
6- (a) Resolve
(b) A dieis thr bility that the dots on the top are prime numbers or odd numbers. 3
a" +b" 5
7- (a) For Ny T is the positive geometric mean between a and b ?
2P 135(2) —_ 5
@@4\ _2_!.[.5] +-—-3r[-s—] g T th-en prove that y*+2y-4= 0
—8i 5
Prove that : ane ~ SecH —tan® , where 0 is not an odd multiple of L
g 1+ Sin® 2
0 Ha+B+y :_180° , show that cota, cotp-+cot Beoty +cotY cotat =1 5
9. (a) Usinglaw of tangents , solve the AABC in which a=36.21 ,b=42.09 and y=44°29 5
EAI | - 8
(b) Prove that 2tan (3]+tan [7}_ <
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